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09111100 | wonifu (unngh wénifu) PoUL nnwy 6 000 6 000 1
09100000  [RGnuwidkln X X X 6 000 X
14221000 [ywd PRUL npwi 3 000 3 000 1
14211000 | wjwgq, 2h0wpunwywl RROUL npwa 24 000 24 000 1
14200000  |QOnwdbkGp X X X 27 000 X
15911100 | uwhpwn POUL npwi 16 000 16 000 1
15900000 Llhpwikap X X X 16 000 X
18141000 |dbrling nlthybpuw PLUL qnig 220 8 800 40
18141000 [abrOnglbn tnnbunbuwywl PoUL hwin 1440 2 880 2
18141000 j&krGngltip jwunbpuhg PRUL hwuwn 3850 3 850 1
18141000 [dtrUnglbp hwun 3 600 3600 1
18100000  |ROnwuikOp X X X 19 130 X
18318200 | uwjwplbp PCUL hwun 3 500 35 000 10
18333000  [rwwhybbp [2]a]VP4 hwun 1900 9 500 5
18300000  |COnpwukOp X X X 44 500 X
18421170 | gnunhlbp (wpdwpk, XIXnwn) PLUL npwi 180 000 180 000 1
18424300 |ibywigquwijw oguwgnnédwh dkrlinglbin POUL hwuwn 30 9 000 300
18451000 | Ynswlltp PRUL npwi 13 000 13 000 1
18400000  |POnwdkOp X X X 202 000 X
18938000 | pnpjw unnnwpwililbn RrLUL hwuwn 1250 250 000 200
18938000 | pnpjw wnnwpwylbp (Gdtph tnnwpuwly) POUL hwuwn 600 24 000 40
18938000  {RGnwikOp X X X 274 000 X
19211100 | fuwinp Yuinnplbtp PRUL npwa 85 000 85 000 1
19211100 | juwep Yuinplbp (Swébbint Yunp) PRUL npwi 13 100 13 100 1
19245000 | wuwnwreh YuinpGbnp PpUL npwi 24 500 24 500 1
19251000 [ gnpdywd Yunnplbn PRUL npwadi 81 000 81 000 1
19200000  |QOnwdkOp X X X 203 600 X
19640000 | wnjhtphiE0wihl tnnwnwy rLUL npwad 81 000 81000 1
19640000 | wnihtphikl PQUL npwui 6 000 6 000 1
19641000 |wnph ninwpwybp nu wwnlytp 60). roUL thuwipbp 420 2100 5
19641000 Jwnph winwpwybbn n wwplbp 35;. PCUL thwpbp 560 8 400 15
19641000 [wnph tnnwpwllhp nt wwpykp PRUL Lhwpbp 2 200 4 400 2
19600000  [QGnwdkGp X X X 101 900 X
19722000 |pwpép wipnipiwl phibn /undh/ POUL hwn 500 5000 10
19700000  [POnwdklp X X X 5 000 X
22111200 Juwwgpywé wy gpekp PRUL npwa 20 000 20 000 1
22100000 Qlnwiklp X X X 20 000 X
22212100 |wwppbpwlwl hpwwwpwlyndobn roUL Apwd 45 000 45 000 1
22211100 |Jwupuninfwywl wiuwgpkn PouUL Tpwd 40 000 40 000 1
22211000 |pbppbp PLUL pwd 40 000 40 000 1
22200000  [CGrwikln X X X 125 000 X
22311500 | ntuwlblwpbbp PoUL Apwd 100 000 100 000 1
22300000  |QGnwdkOp X X X 100 000 X
22455000 | wiOdp hwuwnwwnn pwnubnp (phio) PeUL hwuwn 2 000 58 000 29
22457000 | dnuinph pwpunbip POUL hwun 1200 12 000 10
22400000  |0Onwidtop X X X 70 000 X
22816000  [Gondlbph inwnp PoUL hwn 1550 7 750 5
22816100 {Unpwwnbuinpbp PLUL hwuwn 260 52 000 200
22813000 [hwyywneiwh gnpbp RrRUL hwun 430 5 590 13
22841200  |dwybp POUL thwpbp 660 5280 8
22851000  |wpwqwlwn undwpwenph PouUL hwun 55 11 000 200
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22852000 _|pnpwwwlwlyGhbn /pushwlghly/ [2]a]V74 hwn 55 3 300 60
22852000 |pnpwwwlwyltp /Dwybpnu/ POUL hwun 720 36 000 50
22852000 pNRWWWHwWYGkp /nbghlt wipwybbpny/ POUL hwun 210 2100 10
22800000  |ROnwikGp X X X 123 020 X
24310000 | oppndnudnpwliwl ppnt POUL il 51 000 51 000 1
24311411 | 660pwlwl ppnt PRUL pwd 1800 1800 1
24323210 | pwgwluwpent RLOUL Apwd 1000 1000 1
24323210 |wgbuwnl [2]a]¥04 pwd 37 100 37 100 1
24326000 |gihgbkpht POUL Lhwp 1500 150 0,1
24300000  |ROnwikOp X X X 91 050 X
24413100 _{htinniy winGhwy POUL {hup 1000 2 000 2
24452000 _ |dhowtnwuuwwl (ynipbnp roUL Apw 171 000 171 000 1
24400000 Qonwdkop X X X 173 000 X
24911400 _ Junup(d (uwihuh) PLUL Uhingpwid 1000 6 000 6
24911400 |unuhGd (uwihyh) PLUL “pwd 17 500 17 500 1
24911400 |unuh(ad (251.) PLUL hwn 1750 7 000 4
24900000  [QGnwdkGp X X X 30 500 X
30192121 _[qUnhywdnp aphs PLUL hwuwn 83 14 940 180
30192130 _[dwwnhwnlbp POUL hwun 37 3700 100
30192125 iplngénn dwpybpbn PLOUL hwwn 350 7 000 20
30192125 |uiwdwrwlh Unw gnwenidtnh hwdwn POUL hwn 200 6 000 30
dwpybpbbp
30192770 wjwuwnhphl RPQUL wnnuth 600 1800 3
30197630 [pninp nwhsGbph hwdwp Ad PLUL wnith 1750 122 500 70
30199230 |épwnlbp /pnphg/ PoUL hwun 30 6 000 200
30199200  |énwnGbp POUL hwtn 60 3000 50
30199200 {Spwnlbp PRUL hwwn 150 7 500 50
30199200 lépwpltip PCUL hwuwn 100 10 000 100
30199200  |épwnObp POUL hwuwn 45 4 500 100
30192160 jpuipptulibp PLUL hwn 220 5500 25
30197220 _[pnph wipwltbn PoUL wninith 40 600 15
30197221 |wipwylbp ubnohsny PLUL wnintth 235 1175 5
30197110 _jywphsh dkunwnuywpk Ywuwbp eouL wnntth 70 3 500 50
30197320 jywphshbp POUL hwtn 710 1420 2
30192710 lunuhGa, pnph, unduwipwpeneh b nkpuinhih LoUL hwun 155 31000 200
30192350 |Nw2hennwiwnynuyht dbptGuwitiph POUC huwtn 190 57 000 300
dwwwykOatp
30199110 |wwunsbhwhwlng pninp PLUL wntth 1000 1000 1
30197210 |PPWWLWOLILEGN, npwntin pretinp Ghwgynud & YaU% hwn 570 5700 10
onwyibnny
30197235 [pnpwuwwiwl’ wipwlny PRUL hwun 600 3 000 5
30199792 Jopwgnygtip PRUL hwwn 1000 20 000 20
30192114 [pwlbwp, yunwdwh, pwpdhlh POUL hwun 130 390 3
30197340 jwwwlwphsbtn PoUL hwuwn 250 750 3
30199760  |whunwlbtn POUL hwuwn 350 3 500 10
30199760 |whuwnwylbp (wiabwgpuyhl pupwn) PRUL hwn 31 155 000 5000
30199420 |pninp GynuiGtph hwdwp POUL wnnith 300 3 000 10
30199420 [pninp Gynuilbph huwn PRUL wnnith 900 4 500 5
30199500 [wwhbuunwynpiwl wplntp 066 PCUL hwun 3 600 180 000 50
30199500 _jwwhbuwnwynpiwl wpynkp thnpp POUL hwun 3100 310 000 100
30192127 [gpswuwnnuhbp PRUL hwwn 500 2 500 5
30194500 |pwilinG PouUL hwun 120 120 1
30192113 | pwlwpwiht pwpppholbn PoUL hwn 20 000 20 000 1
30100000  InGqwikOp X X X 996 595 X
30213300 [ubnwlh hwiwlwnpghsbtn PRUL pwad 276 000 276 000 1
30234400 _[nwuwwpy ufwdwnpwly, wrwlg wninwhh, DVD PRUL hwn 140 14 000 100
30234300 [CD wintthny POUL hwuwn 170 25 500 150
30234600 |16y hhonpniginilbtn PoUL hwin 5000 75 000 15
30237410 [hwidwywpgswihb SYahyGkp POUL hwwn 2100 2 100 1
30232110 _[jwabpwihl wvughstbp fOUL hwuwn 135 000 135 000 1
30233000 (oMW tndwiGbng wuwhwwnn bt Yuipnwgnn POUC huin 254 000 254 000 1
uwpplip (Ynywn ufwywewly)
30237137 _jinbuwpwpunkp POUL hwuwn 30 500 61000 2
hwiwywnpgsh hhannnieynilp dLdwglbnn uwppbp
30236100 (1024Mb 400 MHz) POUL hwn 14 200 56 800 4
hwiwywngsh hhannnueinilp dt6wglnn uwppbp
30236100 (1Gb 800 MHz) PLUL hwwn 9 500 9 500 1
30230000 | MWdwlwinghsltphl welsnn uwppwynpnud pOUL hwin 600 8 400 14

(hnJwgntghs)




hwiwywpghsbpht webgynn uwppwynpntid

30230000 PLUL hwuwn 5000 10 000 2
(hnJwgnighs)
30230000 | "WdwlwnaghsGGnh( welsdnn uwppuwynpnid POUC huitn 2 500 7 500 3
(hndwgnighs)
30230000 | "WdwlwnghsUtnh( wel;snn uwnpuinpnid POUC huin 4200 8 400 2
(wnwitywnnn)
30200000 [COnwdkhp X X X 943 200 X
31214200 |wlOowuwnhs-quunhs 1 unbnGny rQUL hwuwn 600 18 000 30
31214200 |wlowuwnhs-quunhs 2uunbnlny [a]a]V%4 hwun 600 6 000 10
31213100 | pwyluhs pinbtn (hnuwbph pinty) PRUL hwun 14 000 42 000 3
31213100 | pwytuhs pinybp (hnuwlph piny) [a]a]VY4 hwn 24 000 24 000 1
31211310 | wwwhnypsObp PoUL hwun 950 950 1
31211310 | wwwhnyhsObp PLUL hwun 1 500 1 500 1
31211310 | wwwhnyhslbp PRUL huin 9 800 9 800 1
31221280 | bpywpwgdwb jwpbp roUL npwi 5 500 5 500 1
31211310 | wwwhnyhsbbp (gbjqbph) PLUL hwuwn 4400 4 400 1
31200000 [COnwdkp X X X 112 150 X
31410000 [sybpwihgpwdnpynn dwpunynglp PoUL hwuwn 550 4 400 8
31441000 [dwpwnynglbip, AA inbuwyh PLUL hwwn 100 200 2
31400000 [COnwdkOp X X X 4 600 X
31518600 [ninnnpnywsé (nyuny (pLuwpdwly [2]a]Vte hwin 11 000 550 000 50
31531200 |tiELYUIpwywo jwdwy PRUL hwin 1750 22750 13
31531200 |EEYunpwywl jwiw [2]a]UT4 hwun 2 500 177 500 71
31531200 |kiEyunpwlwl jwdw 2]a]V14 hwuwn 3700 66 600 18
31531200 |kiEYunpwywl jwiw PRUL hwuwn 5 000 60 000 12
31531200t |EYunpwlyuwl jwiw PoUL hwun 9 000 9 000 1
31531200 |tiGLUuinpwywb jwiy PrOUL hwn 12 500 25 000 2
31500000 |QGnwdbklp X X X 910 850 X
31684200 |dwpnuwy, pypLbnwih PRUL hwn 600 30000 50
31683000 | brwpw)iuhs PLUL hwun 600 600 1
31684300 |hnuwbph Grwplbe PLUL hwuw 2 000 2 000 1
31684300 |hnuwlph Grwplbn PRUL hwun 750 1500 2
31684300 [{Jwpnuwly, Gpyplbrwbh, wpunwphl PRUL huwiun 600 6 000 10
31686000 |tupng PrOUL hwn 200 6 000 30
31651000 [0GYniups dwwwytbGtp POUL hwuwn 130 3900 30
31681600 | bGYunpwywl wwwhnyhs rLUL hwuwn 9 800 9 800 1
31600000  |COnwdkOp X X X 59 800 X
31711140 | biGywnpnnlbp [2]a]V14 npwi 4 800 4 800 1
31700000 |QOnwdkGp X X X 4 800 X
32333100 |Juwbuwagpnn uwppkn PoUL hwun 406 000 406 000 1
32300000 |QOnwdkOp X X X 406 000 X
32422000 | gwOgwih0 pwnwnphsGbp POUL hwuwn 6000 6 000 1
32400000  |COnwdkOp X X X 6 000 X
33141115 | pdojuywil pwipwy rLUL hwun 140 5 600 40
33100000 |COnwdkln X X X 5 600 X
33764000 |pnpb whdkrnghybbp ProUL unith 1 500 1 500 1
33764000 |pnpt wGakrnghlybkp PRUL wnnith 340 2 040 6
33764000 |pnpt whdbkrnghybtp PLUL wnnth 150 6 000 40
33761000 [rninGny, gniqupwlh pninp [2]a]¥14 hwuwn 100 45 000 450
33761100 |gniqwpwbh pnnp PouUL hwuwn 150 14 400 96
33763000 [dtrph pnpb upphsGEn poUL hwun 810 8 910 11
33763000 |atrph pnpb upphsGbp PRUL hwun 1200 4 800 4
33711710  |wunwdh lunquiiwly PoUL hwuwn 330 3300 10
33711720 |wwwdh dwonlybbp PRUL hwun 300 1500 5
33700000 |QOnwdkGp X X X 87 450 X
quiwqul ywhbunwiwubp (wyunnduwun
34913000 onwithnluhsh wiwhbunwiwy) PCUL Anwd 5300 5300 1
34900000  [LOnwdkhOp X X X 5 300 X
35125300 _Jwiyunwgnipwl unnbuwfughyttp npuh PRUL hwun 30 000 150 000 5
35125300 jwOyunwGgnipjwl nkuwiughybbp bkpup PrLUL hwuwn 25 000 200 000 8
35100000  |QGnwdkOp X X X 350 000 X
38427000 |hnuwliph swuhdiwl uwpp /nbuntp/ rPLUL hwun 7 000 7 000 1
38400000 |2Onwdklp X X X 7 000 X
39154100 (gnigwhwlnbuh unblinbp PRUL Npwd 500 000 500 000 1
39174000 |gnigwlwlyokn rOUL hwun 4 000 4 000 1
39132170 | gniguhbnybp (wwbhwpwbatn) rLoUL hwuwn 10 500 42 000 4
39191100  [wwuwwr nwuwgpyuwé poul hwuwn 4100 102 500 25
39100000  |QGnwdkGp X X X 648 500 X
39224200 | junqulwylbp PoUL hwun 6 300 6 300 1
39224200 | junqulwylbp rLUL hwun 4 000 8 000 2




39224200 | unquilwybbp [a]a]V04 hwn 1700 3400 2
39224200 | junquwybbp PRUL hwun 1000 2 000 2
39224200 | junquiiwybbp pcul hwun 250 500 2
39224200 | junqubwlbbp PLUL hwun 350 350 1
39224200 | unquOwybbp rOUL hwn 600 5400 9
39224213 |4pdéh0’ OEpUwpwpwywi, Gbn PRUL hwuwn 930 1860 2
39224213 |ypdh0’ GEplYwpwpwywb, Gbn PQUL hwwn 750 1 500 2
39224340 |wnpwplynbp PoUL huwun 1000 4 000 4
39224340 |wnpwnpynbp PoUL hwuwn 8 300 16 600 2
39224330 | nnyibp (nny thwjwnnyd) PoUL hwuwn 3100 12 400 4
39241141 |nwtwy’ gpwubljwyuwyht, sEunwnw, dbé [2]a]¥t4 hwun 3 500 10 500 3
39241142  nwlwy’ gpwubljuyuwhl, skunwnw, thnpp rOUL hwn 1850 5 550 3
39241210 [uypwin, gpuubiGiuljughl Shohl PLUL hwun 700 1400 2
39241210 |dypwwn, gpuwublwluwht 066 [2]alT4 hwwn 760 1520 2
39263400 | wipwy PRUL hwuwn 350 37 100 106
39299000 | wpunwnpwlp wuwynig (wuywyk swél) POUL npwad 28 000 28 000 1
39299200  [sewnnynn wwwyh (Gwydws bgpny wwywlyh) PoULC npwd 6 000 6 000 1
39299200 [sowpnUnn wwwlh RPOUL npwi 18 720 18 720 1
39299200 {sowpnynn wwwlh PLUL npwo 31 300 31 300 1
39200000  |DOnwdkOp X X X 202 400

39525100 [thnont pipnyy POUL hwun 500 1000 2
39514200 |unhwlngh unphsGbp PLUL hwun 450 1800 4
39525800 [dwppnn Yunnplbp rRUL hwun 900 11700 13
39525800 |dwppnn Yunpbbp PLUL hwn 500 20 000 40
39525800 [dwppnn Yuinphbp rRUL htuin 450 22 500 50
39525800  |dwppnn Yunphbp ROUL hwn 90 22 500 250
39525800  |dwppnn Yunphbn LrOUL hwin 400 1600 4
39525800 |dwppnn Yunnpbbp PRUL hwuwn 690 2070 3
39525800 {dwppnn Yunnnphbp PrRUL hwun 870 870 1
39500000 |DOnwdkGp X X X 84 040

39714000 | onwihnfudwit L onwpwy uwppbp rLoUL hwwn 5000 25 000 5
39721510  |opwinwipwignighs [a70]U74 hwuwn 90 000 90 000 1
39700000  |QGnwdkGp X X X 115 000

39831241  |odwn PLUL hwun 240 24 000 100
39831241 |odwn dwllywywl POUL hwun 190 3 800 20
39831241 {odwnr wloywlwl PQUL hwuwn 210 5 040 24
39831245 |adkrph hbnniy ofwn 51 PoUL hwun 1750 24 500 14
39831242  [1dwgph thnzh dbrpny (Jwhwint hwdwp (300gn) erul hwun 340 3400 10
39831242  jjJwgph thnzh dtrpny (Ywhwint hwdwp (300gp) rLUL huwin 280 2 800 10
39831242  {|Jwgph thnzh dbirpny (Jwlwint hwdwp (400gn) PLUL hwin 610 1220 2
39831242  [[wgph thnzh dGrpny |Jwlwint hwdwp (500gp) alajute hwun 970 1940 2
39832000  juwwuph jJwgdiwl henniy RPOUL hwuwn 570 5700 10
39832000  Juwwuph jJwgdwl hbnniy rOUL hwwn 600 1200 2
39832000  Juwwuph (Jwgiwl henniy ~rLUL hwuwn 650 1300 2
39832000  Juwwuph jJwgdiwl hbnniy rLOUL hwuwn 1100 2 200 2
39812400 |wuwwyh dwppbint hennty roUL hwun 330 3 960 12
39831600 |whuuinwhwnn henntl PRUL hwwn 800 32 000 40
39831600 Jwuwnwhw(nn htnniy PLUL hwn 3 840 7 680 2
39831600 jwfuunwhwlnn thnoh PLUL hwun 280 16 800 60
39831300 {hwuwwyh dwppiwl Gintebn PRUL hwun 2470 49 400 20
39831300 [hwuwnwyh dwppdwl Ginipkp rOUL hwin 9700 9700 1
39813000 | dwppnn dwéntytn L thnohlkp a]al¥%s hwuwn 25100 50 200 2
39813000 | dwppnn dwéniybbp L thnyhGbn eoul hwuwn 1250 2 500 2
39813000 | dwppnn dwéntybbp L thnyhbbn PQUL hwuwn 2430 2430 1
39813000 | dwppnn dwéntylbn L thnohlibn [a]a]¥te hwun 2790 2790 1
39813000 | dwppnn dwénillbn L thnahbknp PRUL hwwn 3 690 7 380 2
39813000 | dwppnn dwéniylbp b thnohlbnp POUL hwiun 4 260 4 260 1
39836000 |wdby PQUL hwtn 700 16 800 24
39839200 [gnqwphwy, wnpp hwywptint hwdwn, hwuwpwy ROUL hwun 350 350 1
39811300 |hnunwgbipdnn dhonghbp PoUL hwun 370 7400 20
39811300 |hnuwgbpénn dhonglbp PQUL hwun 4 000 16 000 4
39811300 |hnuwagbpdnn dhongltn PRUL hwuwn 3 000 6 000 2
39831270 | uwnilg POUL hwun 1480 2 960 2
39831270 | uwnilg PLUL hwun 270 2700 10




6 000

39831700 | odwrh wyunndwur nhuwbOubpbbp POUL hwuwn 12 000

39831700 | odwrh wyuwndwwn nhuwbiubpbbp PRUL hwun 2 300 4 600 2
39835000 [hwuwnwl dwpnbint dnn, wjwuwndwut, thwjuinjw rOUL hwn 610 6 100 10
39800000 |COnwoikhp ‘ X X X 341 110

42131000 | énpwiybbp Ywd thwywbbhbp (6npwly) foUL hwun 3 500 7 000 2
42131000 | énpwlbbp Yud thwlywbasp (6npwly) PRUL hwuwn 10 300 10 300 1
42131000 | 6npwlitbp Yuwd thwywbabp (dnpuwly) PRUL hwun 12 000 12 000 1
42131000 [ $npwybbp Yuwd thwywbitp (bhwywb) PoUL hwun 1400 1400 1
42131000 | énpwiylbp Yuwd hwywbGbp (bwywb) PRUL hwun 7 000 14 000 2
42131000 [ énpuylbp Ywd thwywiobp (bhwywb) rRoUL hwun 600 19 800 33
42113172 | 7Gnpbp (unngh thnlunn) rOUL hwun 2 300 4 600 2
42113172 | 2bnpbp (nwowyh) a]a]V4 hwun 2 000 2000 1
42100000 |QOnwikhp X X X 71100

42968200 | hhghtthYy wwpwgwbsph nhuwbbubpbp PLUL hwun 3200 6 400 2
42968200 | hhghtlhy wwpwawtph nhuwbkiubpltn PoUL hwun 12 000 24 000 2
42968200 | hhgptlhYy wwpwgwlbph nhuwbbubpbbn PLUL hwun 14 000 28 000 2
42968200 | hhghtihly wwpwawObph nhuwtbubpbbp PLUL hwun 4 600 4 600 1
42800000  |DOnwikop X X X 63 000

44191400 |hwpnwpbiuwht uwtp /AUYD/ POUL Npwd 256 000 256 000 1
44111700  fuwhybbp (hwuwlh uwihy) PLUL pwd 90 010 90 010 1
44111700 juwhybbp (ghwyu YwpuinG uwihy) PLUL Apwd 24 000 24 000 1
44111200 [gbukbwn PLUL nwid 950 58 900 62
44111800 [rwnwiulbp OhOwnwpwywb) gquwhnyw PrQUL Ipwyd 3 000 3000 1
44118300 {phpbn’ dEbnwnwywa, 2 44 RrLUL Apwd 97 500 97 500 1
44110000 | 2h0wpwpwywl O)nipbp (uduwn G-20 254Q) PQUL Opwd 1800 1800 1
44141000 [ junnndwlylbp RLUL pwd 14 000 14 000 1
44111410 [GEpYy PLUL Npwd 100 000 100 000 1
44111411 lwyphiwiht Gepy PLQUL pwid 3 000 3 000 1
44111414 06pYy" jwunkpuwh( PRUL pwil 54 000 54 000 1
44111421 ignibwijnip PoUL Npwd 37 000 37 000 1
44100000 [LOnwdkOp X X X 739 210

44221200 | nrGbp (24 pwd 2 600 000 2 600 000 1
44212510 | woynGhen PoUL Ywd 290 000 290 000 1
44200000 [QOnwdkOp X X X 2 890 000

44322100 [ dwyniju hwidwywpgsh UTP cable 6 level rLUL dbwnp 200 20 000 100
44322100 | dwniu hwiwywpgsh CCTV [alnjite dGunnp 250 50 000 200
44322100 | dwynihu hwiwywpgsh SATA DATA PRUL dGunp 300 600 2
44322100 | dwiniu hwdwywnpgsh LAN cables POUL ukuwnp 233 2 100 9
44300000  [QGnwidkGp X X X 72 700

44423000 | qubwqwl wwpwawobp (Jwihb) PRUL pwy 9 350 9 350 1
44423000 |qulwquwl wwpwgwhbp (wodwl) PRUL Apwd 8 500 8 500 1
44424200  |Ywsnil dwuwdbG0bp /uynuns pnphg/ PoUL hwn 500 1500 3
44424200 ywsnil dwwwdbkGobp /uynung pnphg/ POUL hwuwn 750 1 600 2
44424200 |Ywsnil dwwwdbhhbp /ulnung / PRUL hwun 650 6 500 10
44424200  [Ywsnil dwwwdkbabp /uynung / PLUL hwuwn 1 300 13 000 10
44424200  [Ywsnil dwwwdbbobp /dnud / POUL hwun 450 1350 3
44421700 | wpUnbp L wwhwwnnuhbp [2]alUT4 pwid 3100 3100 1
44411740 [gnigupwlwynGp PoUL hwun 25 000 50 000 2
44411300  |jJwgwpuwlGbp PLUL hwiun 25 000 50 000 2
44425000 jonwlyabp, dhownhpltn, PLUL hwwn 300 3 000 10
44425100  jwnwdqwywh onwylbp PLUL hwuw 2 500 25 000 10
44410000 |wwpwhplbp (nnwublwyh b flunhwbngh hwdwp PLOUL nwad 31000 31000 1
44400000 [ROnwdklp X X X 203 800

44523100  Jywiuhsbbp PoUL hwn 2 000 2 000 1
44523100  |Ywiuhsbp PRUL hwun 29 000 29 000 1
44512940 | gnpéhptbph hwjwpwénilbn pRUL hwun 5 500 5 500 1
44512220 [hnywpninp PLUL npwd 15 000 15 000 1
44514200 | gnpdhpOtph dwubp (pneh griuhl) rLUL npwad 4 650 4 650 1
44514200 | gnpéhpGtiph dwubp (quindYw nebih) PLUL npwad 140 140 1
44514200 | gnpéhpGtph dwubp (bhinokynth griuply) [a]a]¥T4 npwad 2 000 2 000 1
44514200 | 3"NGRULRR duiutip (Wnnunwhwhwh aiuhbh | a6y npwd 2 900 2 900 1

wnwuinnn)

44514200 cﬁ;}“hﬁ;gﬁb“h duiutip (wnnunwudGiup thund | oq 0 AW 15 600 15 600 1
44523200  |wdipwylbp (wwwynt) PLUL npwy 2400 2 400 1
44523200  |wdpwybbn (uynpw) RrOUL npwdi 50 50 1
44523200  jwipwybbp (Y hwu) PRUL npwyd 150 150 1




44533000 | 4n0AG winwgdwl ntunw|Gn pOUL Apwd 2 300 2 300 1
(GEunwnww) wuwnb nbunw)
44523200  jwipwybbn /uwdnun/ PRUL npwad 800 800 1
44531510 Jwunnuunwlwibiu, dwikly PRUL npwd 11000 11 000 1
44531510 | qlnbphplbp L wwinttnwylbp ($hunhlia) PouUL npwad 1800 1800 1
44531300 |mqynipbi unwippbp swithubph rLUL npwo 14 300 14 300 1
44512910 jqwyhynOh uwipkin PoUL hwuwn 1300 1300 1
44512910 |quyihynh uwyptn PoUL hwwn 700 700 1
44500000 Qhanwdtap X X X 111 590 X
44810000 |Gbpybp PLOUL thup 2400 86 400 36
44810000 [Gkpykp PRUL hwp 3000 45 000 15
44810000 |Gbpykp PLOUL thup 3 200 6 400 2
44810000 {Okpykp PRUL [pwp 3600 14 400 4
44810000 |Gkpykp POUL Lhwp 5000 35 000 7
44810000 |Gbnybp PLUL (hwp 6 000 96 000 16
44810000 |Gbpykn PLUL Lhup 6 900 6 900 1
44810000 |GLpybp PLUL Lhup 11700 46 800 4
44812100  |{tdwlbp POUL Ug 2 100 2100 1
44812200 |jntqwlbpybp PLUL npwy 9 000 9 000 1
44832000 [in6hshbn PLUL Lhup 2 900 29 000 10
44831200 | jgwlnipbp (uhthynh) PRUL npuwd 6 500 6 500 1
44800000 COonwikip X X X 383 500 X
44921500 |6Lthwdwéhy PRUL npwy 17 100 17 100 1
44921500  [dwdéhy PLUL npuwid 450 450 1
44912200 |wywquwpwp /26pL0/ PLUL npwa 12 000 12 000 1
44921100 |ghwunlhun LoUL npwi 2 500 2 500 1
44912200 _[>hOwpwpwilwl Yuwwnywn wlwg [2]alVT4 wwny 300 18 000 60
44912000 jqwlwquwl 2hGwpwpwywl pwpkp (ntd pwp) PLUL hwun 300 3000 10
44900000  |PGnwikOp X X X 53 050 X
COnwikop wwpwbp 11510 045
2. Uchuusuue
1 2 3 4 5 6 7
45111100 [pwlndwl wyuwinwlplbin PLUL pwi 100 000 100 000 1
45100000  |QGnwiklp X X X 100 000 X
45261910 | twlhpGbph Yepwinpngdwl wpfuwinwbplbp PLUL Anwad 70 000 70 000 1
45211310__ juwlhwlgnygh ph0. wouwwnwlplbp POUL pwd 300 000 300 000 1
45231124 | O9WlnWY waluwinwlpltin gnuyht POUC Apwi 110 000 110 000 1
funnnywlwownptbph hwiwp
45236290 |MWUguwnh tnwnwépGtiph Yenwlnpngdui POUL Apwi 200 000 200 000 1
upuwunwlpbbn
45200000  |DGnwokGp X X X 680 000 X
45311000 |tLBUtNNWHWE (winbinh L uwngbnh tnwnpdwl POUC Apwi 25000 25 000 1
wtuwwnwbplbp
45331210 |CMUUNUGWE Lwinptiph wbnwnndwd POUL Anwi 200 000 200 000 1
wiluwwnwbplbp
45300000 Qlnwdkip X X X 225 000 X
45442100  |wwwnbph O6pLYiwh w)uwinwGpltn LoUL Apwd 850 000 850 000 1
45421146 | wiunyh wewuwnnwnbbph nknwnpnud PLUL pwd 40 600 40 600 1
45421119 | UBnwenigquis Guhnyph wuwpwuniwd POUL Apw 106 000 106 000 1
wnbnwnpiwl wpluwwnwapbbp
hhitwluwb Ypwinpngiwd b
45453000 UbnwywGaGnnWLWG WhkuwinwGpGsn il Anwd 900 000 900 000 1
45400000  |POnwoklp X X X 1 896 600 X
COnwikop waliwwnwip 2901 600
3. Dwnwnipini
1 2 3 4 5 6 7
50313200 |“WnaEiwhwinn uwnpbinh wwhuwwodw POUL Apwd 280 000 280 000 1
Swewinie|nt(otn
huyhg-npwiwpynuyht dkpkGwatph
50311300 WbRUGhLwUWE uwwuwnUag POUL Apwd 45000 45 000 1
50300000 Qanwdkap X X X 325 000 X
50413200 |WUwhnnGhuhl uwnpbnh Ysnwanpngdwd L POUC Apws 600 000 600 000 1
wwhwwiiwb swrwnipntabp
50400000  |DGnunitlp ‘ X X X 600 000 X
50610000 |WOUUWaAnRIWG uwnptinh YEpwlnpNgduwh L POUL Anws 560 000 560 000 1
wuwhwwliwi Swewinipnibabp
50600000  |DOnwikap X X X 560 000 X




Ytpwanpngdwl b wwhwywodws qubwqui

50800000  |swrwynipyntblbn(Ywpwgnyph, wwywlywd POUL Apwa 300 000 300 000
nrwl onwihniuhsh hhnnnuwnph)

50800000 |RGnwikOp X X X 300 000

51111100 |°"NWlhzh 2wndhsh inbnwinndiwd pOUL wi 240 000 240 000
gwinwinipinLbobp

51100000  |ROnwikap X X X 240 000
dwpytnnypitph Ywauwybnpuwnud wy

55521500  |ywqiwybpwnipynihitph Yuid wy POUL Anwad 900 000 900 000
hOuwnhuinnuinlbnh hwidwp

55500000  |POnwdkGp X X X 900 000
ninLnpuhnfuwnpnn wywndtpbOwbbph

60171000 Anwd 240 000 240 000
Juwpdwlywinipinil® Jwnnpnh hbwn Shwuhl AEU nu
wwnpwbpbbph nbnwithnjudwh

60180000 |unpwluwnpuughl sheongbbph Jwpdwuwinipinib PCUL nwad 90 000 90 000
_Jwpnnnb htun hwuhG

60100000 Conwdkop X X X 330 000

60412000 |HXONGWIND onwhll thnfuwnndwt SwoewjnipinLl o< Anwi 6 000 000 6 000 000
(wyhwunndu)

60400000  |ROnwdklp X X X 6 000 000

63521200 | PEROBNN thnfuwnpdwh dwnuynipinLGGEn pOUL nwd 250 000 250 000
(wdhwpbrwthntuwnpnud)

63500000  |PGnwikiGp X X X 250 000
UGpphl thnunwihl L

412140 n 000 65 000

) 0 uniphwbnwywihodwewinueintGobp i nud 65

64100000  [DGnwikGp X X X 65 000

64211110 | wbnuijh( hbrwfunuwh( SwewntpnLbtbp PRUL Ypwi 650 000 650 000

64211120 | dhepwnwpuyht htpwiunuwih( gwrwynpnthlbn rLUL Apwd 250 000 250 000

6420000  |CUnqwdkGp X X X 900 000

65310000 [bibYunpwywinipiul puwstuntd POUL wd 7 191 800 7 191 800

65300000  |RGnwoikap X X X 7 191 800

66111200  [pwlywihl gwewynipntlitn rOUL Apwid 50 000 50 000

66100000  [CGRwidklp X X X 50 000
nwibtph pwquih hwiwywngswiht

72212211 |6pwgpwihl thwpbiplbph Gwydwo rRLOUL Anwd 40 000 40 000
SwrunpINLlOGN

72200000  |0GnwikOp X X X 40 000

72411000 |hOwnbplbn Yuwh swew)nipuwl abrpbpnLd POUL Npwi 450 000 450 000

72413000 |“nNGNh dhunniw| puiiquinwis Yuypteh mo Apwd 3500 000 3 500 000
wpnhwywbwgdwl dwewynipjuwl dkeppbpntd

72420000 | NWiwWgwWlgh quinquigiwl SwirwynipiLGaGN POUL Apwi 350 000 350 000
(Yuwiph unbnénLl)

72415000 | MHIwOWOGWING tobinh uwuwnywiwe POUC Anwi 34 000 34 000
dwrwinp|wl dbnppkpnul

72411500 | "Wiwgwlguihl tebnh hnuphtgh pOUL Anws 60 000 60 000
SweuwynipnLblbp

72411700 | nnubOwht wiqwlniibhbp PLUL pwad 30 000 30 000

72400000  |ROnwokGn X X X 4 424 000

79111200 | 0bpywjwgnigswiywl Swrwnueinlbibp rOUL pwil 900 000 900 000

79100000 Qonwiklp X X X 5 324 000

79221300 | dwpuwyhlb shelinpnh {Pnnptip) SwrwiniINLOGER PLUL pwd 50 000 50 000

79200000  |DOwikGp X X X 50 000

79530000 [pwpgiwlnipjwl dwnwjnipintbGbn [a]alUle Apwd 500 000 500 000

79541100 | PLOWUNN PUiNGiLGnLRiWG SwpwnipNGGEN POULC Apwi 160 000 160 000
(fpubnipuwywp-pwpgiwbhy)

79500000  |PGpwidkOp X X X 660 000

79631200 | Waluwunwlihgltinh ybpwuuwinpuiunduwl POUC Anws 900 000 900 000
Swrwinpntbotp
w2fuwwnwlhgltph hwdwpowd

79621 00

HOZ1000 SwnwynipinLhbtn /gnpéwlwnipiwt shengny/ ARUL nwd 90000 %00

79600000  |0OnwikGp X X X 990 000

79711000 |WAnwizwiwhG hwiwluingh hengny POUL A 60 000 60 000
hubnnntpwl dwrwinintGitn

79700000  |COnwokln X X X 60 000




79824000 |<CBUGWUNR VIl £, w. huquinwdjulttnh t< hwtn 8 000 4 000 000 500
dwynyp» ghpp Ywwnwing

79824000 | <CuWunwih dhobunwnywa fubggnnenigniln’ | huwtn 3900 3900 000 1000
Wht, UGh» ghpp Ywwnwing

79824000 siﬂlﬁ::u tnuinwa 18-19-nn nuin» ghne o< hwtn 3428 3428 000 1000

79824000 | «<wiyng Uwypwpwnwplbppy» wpwly | Uth (24 hwwn 4 000 4 000 000 1 000

79824000 [Mde [o74 d.p 11 000 874 500 80

79824000  |wyniynpn(n (24 0.p 33 000 891 000 27

79824000 |pwhlbp (24 d.p 6 500 487 500 75

79824000  |ninbgnygbp (224 hwin 275 550 000 2 000

79824000 [ppnyniplip (124 hwuwn 1166 349 800 300

79800000  [OGnwikGp X X X 18 480 800 X

79931300 | nhqwjh odwlnwl swewnipnihGen POUL nuwn 615 000 615 000 1

79951000 | UB9hOwnlph Yuqowytinwdwo POUL Apwi 43 000 43 000 1
SwnwinipIntbbbp
hwpbtipwynpiwl Swewnipinubbp

79921100 POUL Anpwd 970 000 970 000 1
(hbwaghuwywb hpbph) n

79961100 | intuwlOywpswlwl SwewnigniGbtbn rCUL Apwil 339 000 339 000 1

79900000 [QGnwiiklp X X X 1967 000 X

80511100 | Waluwnwlhgltiph Yapwuwinnwundwd POUC Apwo 500 000 500 000 1
Swnwinip|nLGabp

80500000  {DGnwiklp X X X 500 000 X

90511000 [wnph hwywpdwl swewnipintblbn RrRUL pwil 668 272 668 272 1

90500000  |DGnwikGnp X X X 668 272 X

90921000 |WuUrwhwOOWG L dwlwipnydGtnh nglswgdul POUL Anws 156 000 156 000 1
gwrwnLpINLOGED

90900000  {ROnwdklp X X X 156 000 X
pwlgwnwaibpnld gnigwhwnbulbph

92521110 ] 450 000 450 000 1
Yuaqdwlbpwiwl dwewinpintbbbp ACUL Tnw 0

92500000  |ROnwaikhp X X X 450 000 X

98391120 | nbpdwyh swrwijnipntlibn PoUL Npwd 400 000 400 000 1
wjp Swewjnipintbotnp (gnigwuwhwpwGh

98391200  |aLwihnfuntd,wnblubhlwgh qGOnLs L wynh PLUL Anwd 200 000 200 000 1
dywiwgpnid.appbph hnkpuwdnpnid)
wwuinwrwwwuniwi

98391130 wd 60 000 60 000 1
SwewnipintbbGp(hwihniy Ywhnuyph) PoU< nu 0

98391110 h‘;‘g;“r‘sm”mw“ SuwiruynipinLGOGR (Swlnuwipui pOUL nwd 300 000 300 000 1

98300000  |PGnwikOp X X X 960 000 X

QOnwikop swewinipinth 52 441 872

COnwibkop wwpwlp, wyliwunwip L dwewjnipjnil 66 853 517
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